Rocker Back and Mounting Hardware (DROCK) Option

When ordering this kit, you must order new Back Canes also.
(See Category "Canes - Back - Chairs built w/ DROCK Option")
Not available with HDPG, TRRO, LOSHEAR, LOWSHEARWO, RCANE, or FLDBACK.

[
[
|
|
[
[
|
|
- [ Back Canes Shown
Ji ¥ / For Reference Only
Instruction }
Sheet }
|
[
[
[
|
[
|
|

Seat Frame Shown
For Reference Only

Base Frame Assembly
Shown For Reference Only



Rocker Back and Mounting Hardware (DROCK) Option

When ordering this kit, you must order new Back Canes also.
(See Category "Canes - Back - Chairs built w/ DROCK Option")
Not available with HDPG, TRRO, LOSHEAR, LOWSHEARWO, RCANE, or FLDBACK.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1167665 Kit, Rocker Back Assembly and Mtg. Hardware 1 1
(Pair)

2 Rocker Back Assembly (Pair) 2 1
3 Bracket, Backrest, Black 1 4
4 Screw, Hex Head (1/4-28 x 2") 1 2
5 Screw, Hex Head (1/4-28 x 2") 1 2
6 Screw, Hex Head (1/4-28 x 2-1/4") 1 4
7 NLA - Washer, Steel (1/4 x 1/2 x 3/64") 1 4
8 Washer, Steel (1/4 x 5/8 x 3/32") 1 4
9 Nut, Hex Nylon (1/4-28) 1 4
10 Locknut, Thin (1/4-28) 1 4
11 Screw, Hex Head (1/4-28 x 2") 1 2
12 Locknut (1/4-28) 1 4
13 Uni-Washer, Dual 1 2
2 B 1166090 Rocker Back Assembly (Pair) 1 1

NOTE: A -Includes items 2 thru 13.
B - Includes Rocker Backs, Instruction Sheet and Elastomers. All components are sold together and are non-saleable as
individual items.




